

Board of Intermediate Education

Bakhtiari Youth Center, North Nazimabad, Karachi - 74700 Phones:

99260205 99260214 99260207 99260219

BID EVALUATION REPORT

1)	Name of Procuring Agency	Board of Intermediate Education, Karachi
2)	Tender Reference No.	BIE/AG/L&N/1219/2024 dated 09-09-2024
3)	Tender Title	Tender for Procurement of Sports Goods
4)	Method of Procuring	Single Stage – One Envelope
5)	Tender Published	Tender Notice posted on Website of EPADS on 13-09-2024 vide Sr. No. <u>S-240930457</u>
6)	Total Bids Documents Sold	01
7)	Total Bids Received.	01
8)	Technical Bids Opening Date	30-09-2024
9)	No. of Bids Technically Qualified	01
10)	No. of Bids Rejected	Nil
11)	Financial Bid Opening Date	30-09-2024

M/s. Sindh Enterprises

S. No.	ITEMS / PARTICULARS	QUANTITY	RATES:	AMOUNT	REMARKS
01.	Shuttle Cock (Hiqua Red)	50 Dozen	Rs.2400/-	120,000	
02.	Track Suits	300 Pieces	Rs.3100/-	930,000	
03.	Foot Ball/Hockey / Volley Ball/ Basketball Shirts Imported double portion cloth 170gsm with Nos. and Name "BIE, Karachi"	150 Pieces	Rs.770/-	115,500	ed
04.	Football /Hockey / Volley Ball/ Basketball Stocking (Nylon) Ex-Large Size	90 Pieces	Rs.420/-	37,800	luat
05.	Cricket Balls Grays (Original) Duke English 5 Layer size	10 Dozen	Rs.10500/-	105,000	»\a
06.	Cricket Kit Trouser & Shirts (Imported double portion cloths 170 gsm) in Blue Color with Printing & monogram of the Board.	40 Pieces	Rs.2600/-	104,000	owest / best evaluated
07.	Cricket Counties Cap with monogram of BIE, Karachi (Embroidered)	40 Pieces	Rs.550/-	22,000	/ b
08.	Meddles in Gold color	250 Pieces	Rs.750/-	187,500	est
09.	Meddles in Silver color	250 Pieces	Rs.750/-	187,500) ×
10.	Shield Wooden 12'x12', SteelGerman. Wood 75mm	26 Pieces	Rs.2200/-	57,200	Ľ
11.	Shield Wooden 10'x10, SteelGerman. Wood 75mm	26 Pieces	Rs.1400/-	36,400	
12.	General Championship Trophy	02 Pieces	Rs.16000/-	32,000	



	GRAND TOTAL		1	2112,620/	
14.	Hockey Bips with Printing & Monogram of the Board in Blue color	48 Pieces	Rs.890/-	42,720	Evaluated
13.	Volley Ball / Cross Country/ Gymnastic/ Body Building /Athletic Shorts Imported double portion cloth 170 gsm	150 Pieces	Rs.900/-	135,000	Lowest / Best

Following members of Procurement Committee has recommended to accept the best evaluated bids and lowest quoted rates in favor of successful bidder including all Govt taxes

Committee Members Signature (ARIF HUSSAIN JALBANI) Assistant Programmer / IT Manager (Acting) BIEK, Member		Committee Members	Signature
		(SHUJAAT HASHMI) Deputy Secretary / Deputy Controller of Examination BIEK, Member	(Sovi
(ASAD AHMED AFRIDI) Deputy Director STEVTA Member other than Procuring Agency	Azdona.	(NAJAF ALI MUGHNI) System Administrator, Abbasi Shaheed Hospital, Member other than Procuring Agency	my
Convene	er	Signature	/
(ZAHID ALI L/ Audit Offic BIEK, Conve	ier '	2/	



FINANCIAL / COMPARATIVE STATEMENT PROCUREMENT OF SPORTS GOODS 2024-2025

Opening Date: 30-09-2024

s.no	DESCRIPTION OF ITEMS	QTY	M/S. SINDH ENTERPRISES	
			Rate (Rs.)	Amount
1	Shuttle Cock (Hiqua Red)	50 Dozen	2400	120,000
2	Track Suits	300 Pieces	3100	930,000
3	Foot Ball/Hockey / Volley Ball/ Basketball Shirts Imported double portion cloth 170gsm with Nos. and Name "BIE, Karachi"	150 Pieces	770	115,500
4	Football /Hockey / Volley Ball/ Basketball Stocking (Nylon) Ex-Large Size	90 Pieces	420	37,800
5	Cricket Balls Grays (Original) Duke English 5 Layer size	10 Dozen	10500	105,000
6	Cricket Kit Trouser & Shirts (Imported double portion cloths 170 gsm) in Blue Color with Printing & monogram of the Board	40 Pieces	2600	104,000
7	Cricket Counties Cap with monogram of BIE, Karachi (Embroidered)	40 Pieces	550	22,000
8	Meddles in Gold color	250 Pieces	750	187,500
9	Meddles in Silver color	250 Pieces	750	187,500
10	Shield Wooden 12'x12', SteelGerman Wood 75mm	26 Pieces	2200	57,200
11	Shield Wooden 10'x10, SteelGerman.Wood 75mm	26 Pieces	1400	36,400
	General Championship Trophy	02 Pieces	16000	32,000
	Volley Ball / Cross Country/ Gymnastic/ Body Building /Athletic Shorts Imported double portion cloth 170 gsm	150 Pieces	900	135,000
14	Hockey Bips with Printing & Monogram of the Board in Blue color	48 Pieces	890	42,720
	GRAND TOTAL		2,11	2,620

(ZAHID ALIVAKHO)

Audit Officer

BIEK Zonvenor

(ARIF HUSSAIN JALBANI) Assistant Programmer / I.T. Manager (Acting) BIEK, Member

(ASAD AHMED AFRIDI)
Deputy Director
STEVTA

STEVTA
Member other than Procuring Agency

(SHUJAAT HASHMI)
Deputy Secretary /
Deputy Controller of Examinations
BIEK, Member

(NAJAF ALI MUGHNI) System Administrator,

System Administrator, Abbasi Shaheed Hospital, Member other than Procuring Agency

BOARD OF INTERMEDIATE EDUCATION, KARACHI

IN ACCORDANCE WITH OF SPPRA RULE 48
COMPARATIVE RATES CHART OF LAST AWARDED CONTRACT FOR
PROCUREMENT OF SPORTS GOODS 2024-2025

S. No.	ITEMS / PARTICULARS	QUANTITY	PREVIOUS RATES	CURRENT RATES
01.	Shuttle Cock (Hiqua Red)	50 Dozen	Rs.3387/-	Rs.2400/-
02.	Track Suits	300 Pieces	NIL	Rs.3100/-
03.	Foot Ball/Hockey / Volley Ball/ Basketball Shirts Imported double portion cloth 170gsm with Nos. and Name "BIE, Karachi"	150 Pieces	Rs.1616/-	Rs.770/-
04.	Football /Hockey / Volley Ball/ Basketball Stocking (Nylon) Ex-Large Size	90 Pieces	Rs.358/-	Rs.420/-
05.	Cricket Balls Grays (Original) Duke English 5 Layer size	10 Dozen	Rs.8130/-	Rs.10500/-
06.	Cricket Kit Trouser & Shirts (Imported double portion cloths 170 gsm) in Blue Color with Printing & monogram of the Board.	40 Pieces	Rs.1732/-	Rs 2600/-
07.	Cricket Counties Cap with monogram of BIE, Karachi (Embroidered)	40 Pieces	Rs.600/-	Rs.550/-
08.	Meddles in Gold color	250 Pieces	NIL	Rs.750/-
09.	Meddles in Silver color	250 Pieces	NIL	Rs.750/-
10.	Shield Wooden 12'x12', SteelGerman. Wood 75mm	26 Pieces	Rs.3001/-	Rs.2200/-
11.	Shield Wooden 10'x10, SteelGerman. Wood 75mm	26 Pieces	Rs.2540/-	Rs.1400/
12.	General Championship Trophy	02 Pieces	Rs.16161/-	Rs.16000/
13.	Volley Ball / Cross Country/ Gymnastic/ Body Building /Athletic Shorts Imported double portion cloth 170 gsm	150 Pieces	Rs.1154/-	Rs.900/-
14.	Hockey Bips with Printing & Monogram of the Board in Blue color	48 Pieces	NIL Rs.890/-	

An

(ARIF HUSSAIN JALBANI)

Assistant Programmer /
I.T. Manager (Acting)
BIEK, Member

(ASAD AHMED AFRIDI)

Deputy Director STEVTA

(Member other than PA)

(IMHZAH TA'ALUHZ)

Deputy Secretary /
Deputy Controller of Examination
BIEK, Member

AN Y

(NAJAF ALI MUGHNI)

System Administrator Abbasi Shaheed Hospital (Member other than PA)

(ZAHID ALI LAKHO) Audit Officer, BIEK, Convener



Board of Intermediate Education

Bakhtiari Youth Center, North Nazimabad, Karachi - 74700

Karachi - 74700

Open Competitive Bidding (NationalCompetitive Bidding) (Single Stage - One Envelope)

Description of work: Procurement of Sports G ands 2024-2025

Date of Opening: 30-09-2024 EPADS ID: 5-240930457 DATED 29-09-2024

BIDDERS' ELIGIBILITY/ QUALIFICATION REPORT & CRITERIA

.No.	Eligibility/ Qualification Criteria	M/S. SINDH ENTERPRISES	
1	03 years experience in the relevant field	YES	
2	Minimum 3 contracts of Rs.1 Million per year in last 3 years of similar goods / jobs (Job order / Purchase order be attached)	YES	
3	Turn-over of at least last three years having a sum of minimum Rs. Three (03) Million.	YES	
4	Registration with Federal Board of Revenue (FBR), for Income Tax and Sales Tax in case of procurement of goods	YES	
5	03 years Bank Statement / Financial Statement duly verified by Chartered Accountant Firm	YES	
6	Submission of Samples along with bidding documents is mandatory bids submitted without samples shall be treated as "Non-Responsive".	YES	
7	An Affidavit on Stamp Paper that the firm has never been Blacklisted	YES	
8	Required 3% bid Security submitted.	YES	
	Qualified / Disqualified	Qualified	

(ARIF HUSSAIN JALBANI) Assistant Programmer / I.T Manager (Acting) BIEK, Member (SHUJAAT HASHMI)

Deputy Secretary/

Deputy Controller of Examination

BIEK, Member

Method and procedure of procurement:

(ASAD AHMED AFRIDI)

Deputy Director

STEVTA

Member other than Procuring Agency

(NAJAF ALI MUGHNI)

System Administrator, Abbasi Shaheed Hospital,

Member other than Procuring Agency

(ZAHID ALI LAKHO)

99260211 99260212

99260213



Board of Intermediate Education

Phones: 99260211 99260212 99260213

Bakhtiari Youth Center, North Nazimabad, Karachi - 74700

MINUTES OF MEETING

MINUTES OF THE MEETING OF PROCUREMENT COMMITTEE HELD ON 30.09.2024 AT 03.00 PM TO OPEN THE BIDS INVITED FOR "PROCUREMENT OF SPORTS GOODS"

A meeting of the Procurement Committee BIE Karachi was held on 30-09-2024 at 03.00 p.m. in the Committee Room of Board of Intermediate Education Karachi, under the convener ship of Audit Officer, BIE Karachi to open the bids invited for Procurement of Sports Goods for the Board of Intermediate Education, Karachi. Following attended the meeting and marked their attendance online through EPADS:

 Mr. Zahid Ali Lakho, Audit Officer, BIE, Karachi. Convener

2. Mr. Shujaat Hashmi,
Deputy Secretary/
Deputy Controller of Examination
BIE, Karachi.

Member

 Mr. Najaf Ali Mughni, System Administrator, Abbasi Shaheed Hospital, Karachi Member

4. Mr. Asad Ahmed Afridi, Deputy Director, STEVTA Member

 Mr. Arif Hussain Jalbani, Assistant Programmer / I.T. Manager (Acting), BIE, Karachi. Member

The Committee was informed that bid were invited through hoisting of NIT on Board's & EPADS website Sr. No. **\$.24093**04**57** dated **13-**09-2024 for Procurement of Sports Goods According to SPPRA, Rules, Single Stage - One Envelope bids, containing Technical & Financial Proposals, were invited for the purpose.

In response to hoisting of NIT, only one interested firm purchase the tender documents and submitted online bid on EPADS Attendance Sheet annexed at 'A'.

The bid was opened by the Procurement Committee on 30.09.2024 in presence of the representative of Bidding Firm and the rate quoted by the bidder was announced. Committee preliminary evaluated the bid technically with regard to availability of required documents; viz. NTN and Sales Tax Registration, business experience and dealing of firms in supply of similar stores, committee has satisfied after preliminary evaluation of the documents submitted by the bidder. (Eligibility Report as annexed at 'B')

8 m

1.00 M 28 11.7 1/3

Committee was informed that as per SPPRA rules-48, "even when only one bid is submitted, the bidding process may be considered valid, subject to condition analysis of the market prices or rates of the last awarded contract". Hence, the Committee prepared a confronting rate chart (as annexed at 'C') of the quoted items with a view of last awarded contract. After detailed discussion, the Procurement Committee was approved the quoted rates.

It is stated that Convener of Procurement Committee was suggested to opted the Director Physical Education, BIE, Karachi as member (being technical expert and end user) to evaluate samples provided by the bidder so that the committee could be decided on consideration on merit.

Accordingly, the Director Physical Education has carried-out the evaluation of samples one by one and informed that all samples are acceptable and upto mark in accordance with the specification mentioned in the tender documents. Procurement Committee appreciated the efforts made by Director Physical Education with regard to evaluation of samples.

After detailed discussion, the Procurement Committee was considered offered made by M/s. Sindh Enterprises.

DECISION:

Considering the last awarded contract and also the prices offered by the bidders, the Procurement Committee recommended awarding the contract of Procurement of Sports Goods to M/s. Sindh Enterprises, Karachi amounting to Rs.2,112,620/-(Rupees Twenty One Lac Twelve Hundred Six Hundred Twenty Only).

The meeting ended with a vote of thanks to and from the Chair.

An.

(Arif Hussain Jalbani) Assistant Programmer/ I.T Manager (Acting) BIE, Karachi (Member)

(Asad Ahmed Afridi)
Deputy Director
STEVTA
(Member other than PA)

(Shujaat Hashmi)
Deputy Secretary/
Deputy Controller of Examination
BIE, Karachi
(Member)

(Najaf Ali Mughni)

System Administrator Abbasi Shaheed Hospital Karachi

(Member other than PA)

(**Zahid (li Lakho)** Audit Officer, BIE/ Karachi. (Convener)

Page 2 of 2